EARAROBEEIERT — 2 N— IBISH —F 201743A8H (k) 28EIEMH1H

I C3 HY5%R4m Lt (xwlw | lmEmml - |5 ) o
[AE4£] 17 :200,000" ~ 23%&:48,000”  33&:24,000”  43%&:16,000 .~ 57 :12,000
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
s ENEE 122, —5-5-. . — FWHELE (EM
1 4 1FXv1 =X 4 5 an 1(2_2)2 7-5-5-4 | 40.4 1 422)2 /J\,&g%g
LN=v754 BT R b NRYG
— KIIEE :22. -1-1- . — =BT (i)
olglg AFEY—<=TaHh 4 4 al 1(212)4 1=1-1-1 | 42.0 3 ?_()10) %i'}%c;;
L:wiNyBLhTr B:VINHIXT b ESliEe
o . = [IEE)EZN : -8-6- - EmEE (EMA
311 7V=—x275 7 i) 1.(232).9 9-8-6-6 | 40.9 2 <4_521) Pl
w4277 B:xPao0-X =Rk et
SYPAN # 8 | TIRhER 1:23.2 5-6-8-8 |41.1| — 7 465 | RETH (FEH)
A 3 K] JINF 54.0 (11/2) (-5) FHIERI
77—t BTYAHL =B e ]
o4y 2 7 | MNEAF 1:23.2 2-2-2-2 | 42.7| — 4 420 |BEFEX (EH)
5|5/ 5 7AIET L= 54.0 (7€) © ) F— LFAZ M
R:TFRYAYT I BAFA)—ETY— EviLy RT7—L4
N Ll HE R :23. —8-9- . — EABE (FER)
N RO oo | W | 6 B om | TREE
x4 agR—-5— B:hy 7T BEAHS
4 5 | REFR 1:23.9 3-3-3-3 | 42.4| — 9 510 | BMBUA (FEH)
d > DI R 56.0 (11/2) (g | ENEES)
v NyahTr Bivahi-LTFaT > 1&E 5L
TRIE : 44— — KA (Fk)
alglg|2renanex 5 e (11.234/.42) 4-4-4-5 | 42.5 5 <4+330) ﬁ;%z
RN HITA4— B —FaHA47 E&1415
o AR :25. —6-6- . — RE®& (ER)
ol7l7|varzy— it 6 A 1(285)6 6-6-6-9 | 43.6 6 (4+222) TRE
L:HLF4N—t B:AKYIATATS T BES
® I—F—@EBIERL
13—7+— 9,5,2,8,3,7,(4,6) ,1
23—7— |9,5,2,8,4,(3,7),(1,6)
T =35r= 9,5,2,8,4,(1,7),3,6
41—F— 9,5,2,4,8,1,6,3,7
[ RN
B 4 1509 794K 4-9 210 & 4-8 320M &R 1-4-9 490M
7 B 4 100 1-4 1400 | | BB & 4-9 650/ | | SEE 4-9-1 2,580M
9 120 1-9 350M B H 4-9 990M
1 1209

ABICOVWTRDTEEERROODE. TR LIV,



